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Lesson 37

MR .MUKHARIJEE
BECAME THE
PRINCIPAL

Ravi ! Where are you going?

I am going to Mr. Mukharjee's
house. He is appointed as the
principal of that college, you
know!

Oh!

Don't you know this informa-
tion?

I don't know anything. I had been
to his house last week too.


Eklavya Sharma
Lesson 37
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Mohan told me yesterday.

Who is Mohan?

Don't you know Mohan?

Oh! I know him. I forgot it. He
is Mukharjee's son. Isn't he?

Yes. Will you also come?

Let us go. Then Gopalarao will
become the vice-principal.

Yes. Gopalarao is egoistic. He
thinks that he is a greatman.

Not only that. He thinks that
everybody should obey his
words.

But there is a lot of difference
between Mr. Mukharjee and
Gopalarao. You see, he be-
came Principal now. When his
colleagues go to his residence,
he does not speak as princi-

pal. He speaks like a friend.

All right. Let's not bother about
him. Do we get a bus now?
If there is no bus, it would be
difficult to go.
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It is the time for bus.

One bus left ten minutes ago.

Now another bus will come

Mukharjee's children know
Telugu very well. But he does
not know it (Telugu).

Yes. Mohan knows very good
Telugu songs too. But he
doesn't know Bengali ones.

Their younger daughter does not
know Bengali at all.

It's getting time for the bus. You
said that you would get pro-
motion. Did you get it ?

If I pass the departmental test
this year, I will get it.

Don't delay. The competition will
become more. Pass such

tests soon.

Why the bus has not yet come.
What could have happened?
Broke down?
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a. Substitution drill
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See there, two buses are arriv-
ing at the same time.

Yes. When the buses come two
or three of them come together.
Otherwise no bus at all.
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b.

Interlocked substitution drill

39 808 SFr&ES JrbS Soerdy. BEDPS eden BID.
.............. ’aée@a—t%@‘z

@Zo;ésfg ........................................................................

c¢. Tranfsformation drill
Model (i)
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. DRI BYT .
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QO¢ BHBE @wod.
22N B0 @ook.

Model (ii)
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1. 08 000 Srdneo STmo.
2. D) SS Geny S
3. IR 8500 VOLoH.
Model (iii)
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Response drill

Model (i) G2 8w 0@ ITE?  DHRE NG DET?

8 80 & sy & e,
1. RDPE HE 022 ) S0T? 8 J02d 20 SRow?
2. T3S QD Q0838 DoT? S 20638 DKo ?
3. 26¥ & Tihdom? T Thdom?

Model (ii) @335 & ey Srermd? (0)Trdad)

O3 TE 28 VTRET STermEdd.
1. @& 2008 A0 der QUWNNG? (o)
2. wohd dor SrerdadoT? (3055)
3. @00S B0E e SrerEdd? ((D)FS)

EXERCISES

w NPT N

A T N

. Answer the following questions based upon the text of the lesson.
. 80 SO TEOEBE VP Faircd? 3. PP mOE B Semy?

. 22300 wJpcdd &Pood? 4. Sopf MO VYLK e ST?
. Fill up the blanks with suitable case suffixes.
[ FO RN BOH Tk, 4. 3005 ceeune. S DD0DO BOCHD.
RE-ATO) RO Bl eo0od. 5.5°0 v T TY.
L RTER e ESEOMININ] 6. Q0D ......... & JDODO BLOW.
Fill in the blanks with @&w0d0 /55,
LT A BEY e, 4. 20eT)09E BRI e
LD T e 5. 5708 8D covveeeeenen.
LT € DACTTE e B. L0 ITED ..o
. Fill in the blanks with @900 /&D0HNY /T /T°).
L REFE T e 4. 2027)TYE VG ...
L TE DD e, 5. 5708 WOL e
LT € AT e B. L0Me%d QITE ..o
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e. Rewrite the following sentences as directed.

1. 628 deotd oo, (affirmative) 4. o DGared eoirgo. (present
2. 08 Motrd dendn. (negative) tense)
3. @l wH&E Fadrow. (singular) 5. HJg FEOI e@oirgy. (imperative)

f. Rewrite the following sentences as shown in the model.
Model

©@. 808 23000 Sob.
30 B3 23800 SHLNORILTCE0.
€9, QD TP ON0H.

. 83500 K000 &5,
LS 2P STES008.
. @9¢5Q8 céan 7.

Qa0 S0 T OITEISDIND. . Q02T §%0 58 STED.
3. 8 &GS Gy wob. . BB A3 WOT.

E—

30 &3 SIS 620 GORSETE. 6. 8Q $0B N0 W,

_— Q

o ~» 0N B

g. Answer the following questions as shown in the model.

Model  2DOPE> oo 0000 SH0Ir? Koo 2000)R0 SRS ?
[DPE DO NS Larekd 2300)S” Sow.

1. & D DODGETIS Bocw eren Taer? S Seren STer?
2. (08 @b STE? 0D STE?
3. Deohef) T aNor? & wyes?
4. 2857 38 dEE? S deE?
VOCABULARY
3 to become; to be com- (i8c0 proudness (n)
pleted NV one's self
@O0  is not known gkS) great; greatness
@O0y  are not known ) one's own; (oblique base
80e5¢3 previous; earlier (adj.) of &
S0W is/are known (to be &z difference
known/understood) SEP D otherwise; if not
NS (@S vice-principal g0 previous; ago
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PP is/are known 50REA% competition

(O] 1s not known 2080 to grow; to increase
o) are not known (v.intr.)

DA promotion DEP to break down; to go out
&3”§2>30®e'3_ departmental of order (v.intr.)
T to pass (v.intr.)

GRAMMAR NOTES

37.1. In this lesson the past tense forms of the verb & po 'to go' are
introduced. It (the verb & po) takes —ods> /-ox0 -ya/-yiM as the past
tense suffix. The compound bases formed by adding the auxiliary &*
po also take -oS>/-ox0 -@& /-yiM as the past tense suffix.

37.1.1. —-o0 -yiM occurs before the feminine inferior and neuter singular
suffix -& -di.

SN ROLE F-owo-&. ame iM iki po-yi-Mdi. 'She went home .
@& JPF-owo-&. adi nidrapoy-iM-di. ~ 'She/It slept.’
200) D& -000-8. bassu cedipo-yiM-di. 'The bus broke down.'

37.1.2. -03° -ya occurs before the other personal suffixes.
30 088 Fosrso. 'T went home.'
nénu iM iki poyanu.
W0 /3030 Roe8 &Fairo. 'We went home.'
méMy/manaM iM iki poyaM.
305 288 FoIr. "You went to the school.'
nuvvu badiki poyavu.
W /a4y 2058 Sfeirdd. "You (pl.)/They(hum.) went out.
miru/vallu baya iki poyaru.
OB /T SHO Fasred. 'He went in.'
atanu/vadu lopaliki poyadu.
€505 /e €590 oI, 'He/She went to the office.

dyana/ame atisuku poyaru.
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37.2. Another monosyllabic verb 5 £ 'to become; to be completed; to
be over' is also introduced in this lesson. (The other monosyllabic bases are
O° 17 'to come, @ f€ [£Z£ ] 'to bring', and & po 'to go')

37.2.1. 5 kabecomes (i) - avu-before a suffix beginning with & for
& d, and (ii) @3- ay- before a suffix beginning with 0% yor 2 1.

A0 DETE 9) ~SOT). 'l am becoming big/old.'
nénu peddavanni avu-tunnanu.
S0 VPTE)0 ©Q)-T0. 'Let us become big/old people.'

manM peddavallaM avu-daMl.

37.2.2. 5 ka takes —o35° /-0 -ya/-iM as the past tense suffix. -0 -
1M occurs before the feminine inferior and neuter singular suffix -& -di. —-o%r
-ya occurs before the other personal suffixes.

T-00-0 = ©ON-R0-6 = ©@owod  'She/lt became (something).

ka-iM-di = ay-iM-di (37.2.1)

&0 (PNTS ©eod. 'She became Principal.
ame prinsipal ayiMdi.

T-0Ir-& = @oD-0r-& = @oigD 'Ibecame (something).
ka-ya-nu = ay-ya-nu (37.2.1.)

A% (PNTEY oy, 'T became Principal.

nénu prinsipalni ayyanu.

eodrgo ayyaM 'we became'; @oir§d ayyavu 'you became';
eadrgd> ayyaru 'you (pl.)/they (hum.) became'; eosodorgce> ayyadu 'he
became'; escdrgox ayyayi 'they (neut.) became', etc.

$0Yg FTROITEY. "You passed.'

(FOT+0I-) = FV-©OH-CIr- = TO0ITEY). See 37.3.)

nuvvu pasayyavu. (pasuka + ya-vu = pasu-ay-ya-vu = pasayyavi)
37.3. The compound bases formed by adding the verbal bases 5° k2 and

&F posuch as 05 pasuka 'to pass (intr.), QS nidrapo 'sleep' will behave
like the bases 5° k2 and & po.
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QRPN &.  nidrapoyanu. Tslept.'

TOFo00d.  paripoyiMdi. 'She/It ran away.'

TO0ITg0.  pasayyadu. 'He passed.'

T, pasukavall. '(One) must pass.' etc.
374. AN a yité 'if so (lesson 10); if it is like that; if it becomes like

that' is the conditional form of the verb 5° k4. This is an exception to what is
said in 32.2.

37.5. The letter sequence o ayr in forms like ec0o& ayiMdi
(37.2.2.) and e00& ayité (37.4.), etc. also be written as & ai.

@00 /208 ayiMdi/aiMdl She/It became (something).
®ONB /e ayile/aile 'if it is like that;
if it becomes like that'
Q0 + ea00d =
Qa300008 / DEBO&? (2.11.) "What happened?'

eM + ayiMdi = émayiMdi/émaiMldi?
37.6. In this lesson defective verbs &0l felusu'(somebody) know(s);
to be known/understood' and 59y vaccu'(somebody) know(s); to be known'
are introduced. These verbs like °0°® kavali (16.1.), &Cﬁg oddu (16.2.),
@é&écﬁo akkarlédu (16.3.), @0 calu (17.2.) do not express any tense and
they take the subject in dative case (16.1.).

8 36) dLOW.  naku Sarma telusu. 1 know Sarma.
T S S0, naku telugu vaccu. I know Telugu.

37.6.1. @O0 teliyadu'is not known' (singular), @903 teliyavu
'are not known' (neuter plural), are the negative forms of &0l tefusu'(some-
body) know(s)', T radu'is not known' (singular), T ravu'are not known'
(neuter plural), are the negative form of 59y vaccu. The affirmative forms
B felusuand S5 vaccu are used both in singular and plural numbers.
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L Sl deolo.

naku mani telusu.

O T Beo?

niku vallu telusa?

QL B BOCHE.

miku ravi teliyadu.

&8 HotTdd OO,
ataniki guM dru teliyadu.

B3 & oIren O0NY).

manaku I visayalu teliyavu.
T B .

naku telugu vaccu.

S8 aréoen S0,

raviki pa alu vaccu.
800 r0d Tek.
kamalaku hiMdr radu.
S8 NI 2T T).
ataniki mana bhasalu ravu.
T V%0 dewlo.

vallaku nénu telusu.

T Qg SO,
vallaku nuvvu teliyadu.
TEHD BLAD I,
vallaku telugu vaccu.
THH T TY.

vallaku pa alu ravu.

‘I know Mani.’

‘Do you know them?.’

‘You don't know Ravi..’

‘He doesn't know Guntur.’

‘We don't know these matters.’

‘I know Telugu.’

‘Ravi knows songs.’

‘Kamala doesn't know Hindi.’

‘He doesn't know our languages..’

‘They know me.’

‘They don't know you.’

‘They know Telugu.’

‘They don't know songs.’

THO ToL T, ‘“They don't know Hindi.’
vallaku hiMdr radu.
37.6.2. 8y vaccu and its negative forms o°Co raduand O°) ravu are

used to express the PERFORMABLE knowledge (a skill and/or capability of doing
or performing something) of the subject of the sentence.
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T B . ‘I know (speaking) Telugu.’

naku telugu vaccu.
S8 T0)@d DOdgE0 $uiy).‘He knows making dolls.’

raviki bommalu ceyya aM vaccu.

T 0L T, ‘They don't know (speaking) Hindi.’
vallaku hiMdr radu.
@SJE T TY. ‘He does not know (singing) songs.’

ataniki pa alu ravu.

37.6.3. @0 felusu and its negative forms &O0DD teliyadu and SO0DY
teliyavu are used to express the knowledge - both information and the capa-
bility of doing or performing something - of the subject of the sentence.

8 Motrdd doo. naku guM aru telusu. 'l know Guntur.

B8 €3 JRoDo . raviki a visayaM telusu. Ravi knows that matter.

T G S0W. naku ravi telusu. T know Ravi.’

In these examples, no performable knowledge nor a skill is expressed.

So 589y vaccu and its negative forms cannot be used here. But in the
following examples, both 5230y vaccu and @200 felusu (along with their
negative forms) can be used. It may be noted that whatever is stated about
58 vaccu and @00 felusu is applicable to their negative forms also.

T B0 BLOW /). ‘I know Telugu.’

naku telugu telusu/vaccu.

08 250 DODHIO B /Hek). Hari knows making dolls. (Hari knows
naku telugu telusu/vaccu. how to make dolls.)'

Wherever ézﬁoQ vaccu is used, @000 relusu can also be substituted
for it. But the reverse is not possible.

37.7. 8o kritaM'ago' is a postposition and it occurs after an oblique
base (8.9.).

0och Ao S0 reMdu nelala kritaM  ‘two months ago’
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37.8. & lekapoté 'if not' is originally formed by adding the negative
conditional suffix -3¢ -akapoté (32.3.) to the base - /&- 'not to be' (the
negative base of c0ocd uMdu 'to be'). Therefore it can be used to mean 'if
it not there' also.

QS DRE 08 eS8 DO WIoHL AYS;
BETD W $0ds ErraHe SEw L8y B

ni daggara cillara uM é ataniki padi rapayalu ivvu;
lekapoté néné vaMda rapayala no u marci istanu.
‘Give him ten rupees if you have change;

otherwise, I change hundred rupees note and give him.’

QG S00 sorr? BEPB T o SWE.
ni daggara kalaM uMda? [ékapoté na kalaM tisuko.
'Do you have pen? If you don't have take my pen.'

37.9. Notice the use of the reflexive pronoun & fanu (oblique base €3

tana) in this lesson as used in sentences like

30 830 oNVTEY WIL0ETCED. ‘Ravi thinks that he (Ravi) is a
ravi tanu maMcivanni anukuM adu. nice person.'
30 &3 FTrOYT @0K0E0T . ‘Ravi is thnking that he (Ravi)
ravi tanu pasavutanu anukuM unnadu. will pass.'

37.10. Notice the use of the conditional and the dubitative marker —-& -0

(15.1.; 25.6.) in the sentence pattern like the following.

SQ 80 NG Borcy NG a8 T STow; BEFB @I TY.
vasté reMdu bassulo midu bassulo oké sari vastayi; Iekapoté asalu ravu.

'If the busses come, two or three of them come together. Otherwise no bus at all.

37.11. Notice the function of the dative case suffix in sentences like the
following.

22N B30 @o0k. "The time is up for the bus.' (c.f.20.12.)

bassuku aimu aiMdi.
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37.12. Also notice another use of the dative case suffix in expressing
difference between two objects.

e (168 & (68 oo 3@ &od. 'There is a lot of difference between
a gadikT T gadikt cala téda uMldi. that room and this room.'

Notice the use of the inclusive marker (7.9.) in this example sentence
to denote the coordinative conjunction 'and' (5.6.).

37.13. Notice the use of the adverbial marker - -g2 (16.6.) 'as' an
adverbializer, with the oblique bases in sentences like:

20D o8 28 fol%j"ésc%rv Jor¢rEce.  'Balayya spkeaks to me as a
balayya nato oka snéhitudiga ma ladtadu. friend.'

Recall that there is another adverbializer (adverbializer of manner) &
-12ga (21.9.) 'like'. The contrast between these two adverbializers can be seen
in the following sentences.

S (DNTS 7 SIrercoBOTCE. 'Ravi is talking as the Principal.
ravi prinsipal ga ma ladutunnadu.

80 (DNTS e Srerciadoonco.  'Raviis talking like the Principal
ravi prinsipal 1aga ma ladutunnadu.

In the first sentence Ravi is the Principal. As such, he is talking assert-
ing the position of the Principal. In the second sentence Ravi is not the
Principal. He is just imitating the Principal (another person) in talking.

- -laga stands for a comparison between the subject noun and the
noun to which it (-erm -/aga) is added; whereas, - -ga stands for a
situation where the subject noun assumes the status or the position of the other
noun to which it (- -ga) is added.
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